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GRAMMAR 

Tick () A, B, or C to complete the sentences. 

Example: We ________ like meat. 
   A  don’t       B  aren’t      C  not   

1 A Do you drink coffee in the morning? 
 B Yes, ________. 
 A  do I      B  I am      C  I do   
2 We ________ TV in the morning. 
 A  don’t watch      B  are watch      C  not watch   
3 ________ you live here? 
 A  Are      B  Do      C  Have   
4 Marco and Giulia ________ Italian. 
 A  speak      B  speaks      C  is speak   
5 I ________ newspapers. 
 A  don’t read      B  read not      C  ʼm not read   

6 I ________ chocolate. 

A  like      B  likes      C  are like   
7 A Do people in Germany have a big breakfast? 
 B No, they ________. 
 A  not      B  don’t      C  do   
8 ________ work at weekends? 
 A  Do      B  Do you      C  You   
9 We ________ beer. 
 A  don’t drink      B  not drink      C  don’t drinks   

10 They ________ to the radio in the morning. 
 A  are listen      B  listen      C  listens   
11 A Do you study English? 
 B Yes, we _______. 
 A  are      B  do      C  is   
12 They ________ three children. 
 A  has      B  have      C  haves   
13 Javier and Ellie ________ business at university. 
 A  study      B  studies      C  studys   
14 We don’t ________ a dog. 
 A  has      B  have      C  likes   
15 I ________ in a bank. 
 A  is work      B  works      C  work   
16 A Do you ________ a sandwich? 
 B Yes, please. 
 A  eats      B  want      C  wants   
17 I ________ cereal for breakfast. 
 A  no eat      B  not eat      C  don’t eat   
18 A Do you have a mobile phone? 
 B No, I _______. 
 A  don’t      B  do      C  not   
19 ________ tea? 
 A  They drink      B  Are they drink      C  Do they drink   
20 A Do you live at home? 
 B Yes, I ________. 
 A  live      B  am      C  do   
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VOCABULARY 

a Which word is different from the bold word? Tick () A, B, or C.  

Example: live  A  go      B  sugar      C  have   

1 tea  A  coffee      B  salad      C  milk   

2 afternoon  A  evening      B  morning      C  dinner   

3 cereal  A  pasta      B  flat      C  bread   

4 six  A  ten      B  fifteen      C  afternoon   

5 read  A  watch      B  listen      C  sandwich   

6 speak  A  milk      B  study      C  work   

7 eggs  A  water      B  rice      C  fruit   

8 dinner  A  breakfast      B  lunch      C  eggs   

9 drink  A  eat      B  live      C  don’t   

10 newspaper  A  watch      B  radio      C  TV   

b Tick () A, B, or C to complete the sentences. 

Example: They ________ German with their Swiss friends. 
  A  drink      B  speak        C  have   

11 It’s a ________ to nine. 

 A  half      B  o’clock      C  quarter   

12 For breakfast, I drink ________ or milk. 

 A  cereal      B  cheese      C  juice   

13 Are you ________? Do you want a drink? 

 A  hungry      B  thirsty      C  tired   

14 It’s half ________ eight. 

 A  past      B  o’clock      C  to   

15 I want ________ in my sandwich, please. 

 A  cheese      B  rice      C  juice   

16 Do you ________ the newspaper in the morning? 

 A  read      B  go      C  watch   

17 I’m ________. It’s time for bed. 

 A  hot      B  hungry      C  tired   

18 Do they ________ TV? 

A  listen      B  watch      C  read   

19 I don’t ________ meat. I don’t like it. 

 A  eat      B  drink      C  go to   

20 We don’t ________ long flights. 

 A  like      B  live      C  work   
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PRONUNCIATION 

a Which word has a different sound? Tick () A, B, or C. 

Example:  A  what      B  where      C  who    

1 A  two      B  work      C  when   

2 A  burger      B  sugar      C  orange   

3 A  son      B  coffee      C  clock   

4 A  very      B  want      C  have   

5 A  juice      B  vegetables      C  yoghurt   

b Which is the stressed syllable? Tick () A, B, or C. 

Example: A  ce|re|al       B  ce|re|al      C  ce|re|al   

6 A  po|ta|toes      B  po|ta|toes      C  po|ta|toes   

7 A  vege|ta|bles      B  vege|ta|bles      C  vege|ta|bles   

8 A  tra|di|tion|al      B  tra|di|tion|al      C  tra|di|tion|al   

9 A  sand|wich|es      B  sand|wich|es      C  sand|wich|es   

10 A  ra|di|o      B  ra|di|o      C  ra|di|o   
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